DROLOGY




Overview

* WRSM 2012

" Pitman

» Several updates

= Latest (1920-2009)

» Used for the Breede-Gouritz RQO
= Calibration

» Parameter transfer
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RDM vs WRSM2012

» Discrepancies between earlier hydrology

produced
»Used In R

oy Denis Hughes (Spatsim)
DM (Barry Clark)

= Comparec

MAR

= |dentified differences

= Re-visited

each estuary

* Decision (WRSM,RDM,Redo)
* RC Google Reports
* Discuss each estuary
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Palmiet

Bot

Klein

Uilkraal

Ratel

6@3/109 rdm

WRSM RD WRSM RDM
The calibration at G4HO007 at the
Natural is similar the same lower end of the Palmiet shows the
22l | 2lD so use WR2012 DU/t | Bl simulated flows as too low. RDM is
even lower. Use WR2012
RDM natural is more or
less the same so use WR2012 and RDM have same
WR2012. Calib shows wateruse so %nMAR same. Use
S WR2012 simulated less R WR2012 current day as we used
than observed so cannot WR2012 natural.
reduce further.
Calibration shows WR2012 WR2012 and RDM have same
simulated less than wateruse so %nMAR same (12-
e observed so cannot reduce e 13Mm3). Use WR2012 current day as
further. we used WR2012 natural.
The RC from the quats
alongside (G40L) is 10.6% Water use of WR2012 is about 7Mm3
15.5 and (G50A) is 7.7%. This 68 292 RDM wateruse is about 10Mm3. Use
' compares well withthe RC ; WR2012 as %nMAR is allready low
of Uilkraal (7.8%). Use (50%).

3.80

WR2012.



Uilkraal vs Ratel
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6@%@ rﬂ(m

BOCMA report (2016) only has total demand
of 1.2Mm3 from Duivenhoks Dam (same as
Duiwen WR2012). Google shows irrigation of 6km2
hoks sk NS SC TN AT (Rr52 with use of about 4Mm3. WR2012 has use of
7.2Mm3 which is close to my estimate. RDM
water-use too high.

Goukou 110.5 116.0 Natural MAR close enough 89.9 91.7 OK.... Use about the same

Harten

51 4.6 Use WR2012 4.3 2.8
bos
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6@%:«9 rdm

Groot-Brak 29.8

36.8

Nat MAT OK. Runoff coefficient
24% and inflow to Wolvedans is
22Mm?2 (Cap is 24Mm3 and
demand is 10Mm3)

Total demand of 11.8Mm3
makes sense (around 6Mm3
to Mossel Bay and 4Mm3 to

Mosgas as well as about
18.0 16.3 2Mm3 irrigation). BOCMA is
13Mm3 so WR2012 about
2Mm3 short. RDM demand of
20Mm3 too high. Reduce
current to 16.8Mm3.
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6@%@ ra(m

Nat MAR is OK at 35%
Kaaimans 48.7 395 as 60% of catchment 35.3
mountainous.

Nat MAR is OK at 26%
Wilderness 32.7 29.7 asb0% of catchment  29.0
mountainous.

Nat MAR is OK at about
Goukamma 52.9 57.5 23% as mnts about 20% 46.2
of catchment.

OK.... Use about the same

i as RDM

OK.... Use about the same
as RDM. Google shows
about 4-5Km2 irrigation

using about 3Mm3.

25.2

Stay with WR2012 use of
about 6Mm3...RDM use
too high (9Mm3) although
% of nMAR same.

48.8
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6@%:«9 rdm

Noetsie 5.5 4.8 Similar...use WR2012 51 4.3 Similar...use WR2012

K60G RCis 13% so allready low
Piesang 6.9 5.2 although RDM even lowersouse 6.4 3.4
WR2012
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6@%:«9 rdm

Sout(Oos) 4.8 11.2 ‘ 44 101 -

o Use RDM so scale up by 1.02
oot WSRO ,,
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